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QUESTION 1

Which three SONET network elements are used for troubleshooting? (Choose three.)
A. line

B. path

C. circuit

D. section

E. segment

Correct Answer: ABD

QUESTION 2

You must archive log messages for an extended period of time for audit and troubleshooting purposes.
Which syslog setting should you configure on the Junos device in this scenario?

A. severity

B. facility

C. host

D. console

Correct Answer: C

QUESTION 3

At which hierarchy would you configure a static MAC address for interface ge-0/0/0?
A. [edit interfaces ge-0/0/0 unit O]

B. [edit interfaces ge-0/0/0]

C. [edit interfaces ge-0/0/0 unit O family inet]

D. [edit interfaces ge-0/0/0 unit O family inet address 172.25.11.2/24]

Correct Answer: D

QUESTION 4
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userf@router> show route forwarding-table
routing table: inet
internet:

Destination Type RtRef next hop Type Index NhRef Netif
default user 0 0:32.51.07.89.2 ucst 520 ge-0/0/0.0

default perm 0 rjct 36 1

0.0.0.0/32 perm 0 dscd 34 1

10.21.0.0/16 user 0 192.168.10.100 ucast 535 3 ge-0/0/2.0
10.21.14.0/24 user 0 192.168.11.100 ucast 528 3 ge-0/0/1.0
10.21.14.10/30 user 0 192.168.12.100 ucast 530 3 ge-0/0/3.0

Which next-hop interface will be used to reach the 10.21.14.16 destination as shown in the exhibit?
A. ge-0/0/0.0
B. ge-0/0/2.0
C. ge-0/0/1.0
D. ge-0/0/3.0

Correct Answer: C

QUESTION 5

In Ethernet networks, duplex mismatches will lower performance. Which error statistics can be seen if a duplex
mismatch is present?

A. collisions on the full-duplex side; runts on the half-duplex side

B. collisions on the full-duplex side; collisions on the half-duplex side

C. collisions on the half-duplex side; framing errors on the full-duplex side
D. collisions on the half-duplex side; giants on the full-duplex side

Correct Answer: C

QUESTION 6

By default, which character indicates the UNIX shell prompt?
A #

B. %

C.$
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D.>

Correct Answer: B

QUESTION 7

Which two statements describe IPv4 default behavior for BGP? (Choose two.)
A. All active BGP routes are exported to configured EBGP neighbors.

B. All BGP routes are exported to configured EBGP neighbors.

C. All BGP routes are imported into the inet4.0 routing table.

D. All BGP routes are imported into the inet.0 routing table.

Correct Answer: AD

QUESTION 8

What is an "X" release of the Junos OS?
A. a standard feature release

B. a feature velocity release

C. a special feature release

D. a feature beta release

Correct Answer: C

QUESTION 9
You have entered the command show log messages | match "error|kernel|panic".
Which statement is correct regarding the keywords error, kernel, and panic in the output?

A. The output will contain all messages from the file except the ones that contain at least one of the three defined
keywords.

B. The output will contain all messages from the file that contain at least one of the three defined keywords.
C. The output will contain all messages from the file except the ones that contain all three defined keywords.
D. The output will contain all messages from the file that contain all three defined keywords.

Correct Answer: B
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QUESTION 10

[edit snmp]
user@router# show
community my-community {
authorization read-only;
clients |
10.21.15.16/32;

}

}

trap-group my-first-trap-group ({
version v2;
categories |

chassis;
link;
}
targets |
10.21.15.180;
}
}
trap-group my-second-trap-group {
targets |
10.21.15.1813
}
}

Referring to the exhibit, which statement is true?
A. Traps are sent to 10.21.15.180.

B. Traps are allowed from 10.21.15.180.

C. Traps are sentto 10.21.15.16.

D. Traps are allowed from 10.21.15.16.

Correct Answer: D

QUESTION 11
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Referring to the exhibit, you are asked to rate-limit traffic from Web-Server to the subnet where Mal-User is located. All
other traffic should be permitted.

Which firewall filter configuration do you use?

A. [edit firewalllJuser@router# showpolicer LIMIT-MAL-USER {if-exceeding {bandwidth-limit 400k;burstsize-limit
100k;}then discard;}familyinet {filter STOP-MAL-USER {term one {from {source-address {100.100.100.10/32;}destination-
address {200.200.200.0/24;}}thenpolicer LIMIT-MAL-USER;}term two {then accept;}}}

B. [edit firewallluser@router# showpolicer LIMIT-BAD-USER {if-exceeding {bandwidth-limit 400k;burstsize-limit
100k;}then discard;}familyinet {filter STOP-MAL-USER {term one {from {source-address {100.100.100.10/32;}destination-
address {200.200.200.0/24;}}thenpolicer LIMIT-MAL-USER;}term two {then accept;}}}

C. [edit firewalllJuser@router# showpolicer LIMIT-MAL-USER {if-exceeding {bandwidth-limit 400k;burstsize-limit
100k;}then discard;}familyinet {filter STOP-MAL-USER {term one {from {source-address {100.100.100.10/32;}destination-
address {200.200.200.0/24;}}thenpolicer LIMIT-MAL-USER;}term two {then reject;}}}

D. [edit firewalllJuser@router# showpolicer LIMIT-MAL-USER {if-exceeding {bandwidth-limit 400k;burstsize-limit
100k;}then discard;}familyinet {filter STOP-MAL-USER {term one {from {source-address {200.200.200.0/24;}destination-
address {100.100.100.10/32;}}thenpolicer LIMIT-MAL-USER;}term two {then accept;}}}

Correct Answer: A

QUESTION 12

Which two statements are true about static routes in the Junos OS? (Choose two.)

A. Static routes remain in the routing table until you remove them or until they become inactive.
B. Static routes must have a next hop defined.

C. Static routes are learned by neighboring devices and added to their routing tables.

D. Static routes are defined at the [edit routing-instances] hierarchy.

Correct Answer: AB

QUESTION 13
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You notice that the terms in your firewall filter are not in the correct order.
What would solve this problem?

A. Use the next term action to force an evaluation of the next term.

B. Use the insert command to reorder the terms within the filter.

C. Use the count parameter to ensure that the terms are evaluated correctly.
D. Use the reject action to change the action of the filter.

Correct Answer: B

QUESTION 14

Depending on the device type, Junos is built upon which two OS kernels? (Choose two.)
A. NetBSD

B. FreeBSD

C. Linux

D. OpenBSD

Correct Answer: BC

QUESTION 15

What is the initial prompt displayed when logging in as the root user?
A. root@router>

B. root@router%

C. root@router#

D. root@router*

Correct Answer: B
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